@Ea] o9] 51 fRova: a3t TS fFegge

FAEFT AR RoF A TR A mfeq a3 g a1l e Sym a3 T a7,
T2 Af6 TR LT 97 THNGF AT P11 TONT IO, TSP (FSATST AT TS1T
8 B AHTSEF J T (JFEFT 3 RO B3 31 =fF (FSIF 518 (I0G | 93 F06T AT
@EF] E] 53 RoF 97 M srelFens R 377 132 97 aniBide] 8 TS1F = SIEb
Fa4|

GIGRARIERIEHEIEINE]

(19T

[EF] X AF 4FER GETGET (TPF [T AR & T 1o FE| a6 TIETRS TR (X M
S (GF N AT AEF TNT XS (GF AN | (TP TS ST A0S ST, I 2T &5y
[BEIGERICRL D

IEIE]

RS 3T 9F HTET F T FKIF AT AT ST (GEF | A6 (FIa TR I FIE 75970 37
7, T2 AT T 3 FA THF To1F RONES (W 2X| FoEg I+ 457 3= a3 afp
BIRERIGRIEEIEESIRIE]

@EFT 8 RaNT 747 f5F: TS 8 MeFfos Te1]

¥ 8 Rgfes A ey

@ 7 7% Rova A 467 8 Rpfes ey 53r F@| aft TEF ey, w432 47T
SBIF-AMCHE QT S | TN (TSRS A 93 @S =S TR 4NT 407 8 egfoq T
3 TE WRFF |

T 8 513

TSI IO (AFFT 3 2o g w57 (e fRonE s @7, I8 Af6 wrEs a6 o7 Rona
fAEfte e Ao ToRaE 93 T ST @FEFT 8 ROET 937 AFT0d FE@ HINAIT FE
T | FIHEAT 94T ([FFT 8 REF AT FES T oo 200 MA@ |

@EF1 8 ReF o971 5% (o1ng oo

SO SNENESTST

SIE =i (ST Ty W3S NI ors ST | SFho AT FIXE FA© THE ST 7T,
F1Fr Af6 =TT ATETATT et @ ST


https://yourstudyblog.com/%E0%A6%AC%E0%A7%8B%E0%A6%B0%E0%A6%95%E0%A6%BE-%E0%A6%AA%E0%A6%B0%E0%A6%BE-%E0%A6%AA%E0%A7%8D%E0%A6%B0%E0%A7%8B%E0%A6%AB%E0%A6%BE%E0%A6%87%E0%A6%B2-%E0%A6%AA%E0%A6%BF%E0%A6%95/

PO A5

TAFASS 97 23T Tfow A7 =TT ST 7T 1S (T 7 RAEE TG FAE| YT &
TiY [FATSS S 5|

(TP T8 8 fGoRe

@RS 3 ROER 78 8 fEoR =7 oMy AOE velte M| 9% 78 3 FEE (I fovey A7
QA NAF A2 =@ AFIAT (T |

SR CBIE R (&R

R (ST ST FCTATH ST SR GFT e F@ | T (N 3 (FFIT T RSNEF 931
3@ TI® T Ao 6 F4|

CRLAG]

QEFT S B FZovg TSN T AW S5 A6 ST A 7T SO®, T S0 HTT 3
TREMOP ATTET TFTT F(| TSP (TSNS A A2 FHE =S CTIH FAF A AT ©Ie
AT 8 T Ia FA© TMEN| AT AEFHS], TFFATSST, 932 FIEEF IO HI2F FE
ST 8 SR 2 (ST HEF| TR, AT ST SR (CITTF AT FES BITEIT 3 AT
(@ *EF I3 A AF(6 2Neq6F AHIGT A = |




